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1. Read the instructions on the cover page and the specific instructions to
this Question Paper mentioned 0D the next page of this Booklet
carefully and strictly follow them. l 2
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Qu1(c) | What is integrated watershed management approach? Explain its .
| different objectives o By
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Answer the following | Questiong iy, about

15
Discuss the issues angd challenges P 0 words each;

What is the role of peopleg® Participation iy
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answer the following questions in about 250 words each:
D;ﬁ‘erentiate between the followmg

() Specific capacity of well and Specific yied of aqu
(n) Pumping test and Recuperation test of a well @

(iif) Conﬁned and Unconfined aquifers
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Q6(a)
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Q6(b) | Discuss the following in brief:

(i) Mole drain

(ii) Interceptor drain 7y
(iii) Bio-drainage / (3

(iv) Channel lining
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-8 | Answer the following questions in about 250 words each:
8(a) | Distinguish between a shallow tube well and a deep tube well.
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. Answer the following questions in about 250 words each:
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28(b) | What are the sources of drainage problems? What are the ill-effects of

drainage? @
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